(Ml

Tema ypoka: PelueHne ypaBHEHUN.
PelleHne 3agad npuknagHoro
cogepXkaHus.




PelleHne ypaBHEHUU

3amaHus 119 YCTHOIO CUeTa




HanauTte KopHU ypaBHEHUS

log,(4—%) =6

[IpaBUIILHBIA OTBET: - 60




HanauTte KopHU ypaBHEHUS

log4(5+x) =4

[IpaBUNbHBIN OTBET: 76




HanauTte KopHU ypaBHEHUS

log-(9 — x) =log- 8

IIpaBUIIBHBIN OTBET: 1




HanauTte KopHU ypaBHEHUS

log-(15 - x) = 2log- 4

[IpaBuibHBINA OTBET: -]




HanauTte KopHU ypaBHEHUS

log1(13 —x) = -2
3

IIpaBUIbHBIW OTBET: -51




HanauTte KopHU ypaBHEHUS

28 — 39

IIpaBUIIbHBIN OTBET: -3




HanauTte KopHU ypaBHEHUS

1 X—8

(36) =6

IIpaBuiibHBIM OTBET: 7,5




HanauTte KopHU ypaBHEHUS

24x=19 _ 1

IIpaBuibHBIM OTBET: 4




HanauTte KopHU ypaBHEHUS

V37 —4Xx =5

IIpaBuiIbHBIM OTBET: 3




HanauTte KopHU ypaBHEHUS

V55 —3x=7

IIpaBUIIbLHBIM OTBET: 2




HanauTte KopHU ypaBHEHUA

Vx+4 =4

IIpaBunbHbIM OTBET: 60




HanauTte KopHU ypaBHEHUA

BRI ¥ =]

Tt
[IpaBUIBHBIN OTBET: > + 21mn, nez




HanauTte KopHU ypaBHEHUS

| 1
SIEl X — —
2

[IpaBuibHbIA oTBeT: (— 1)" + tn, nes




HanauTte KopHU ypaBHEHUS

cosx = —1

[IpaBunbHbIA oTBET: T —+ 27'[11, nes




HanauTte KopHU ypaBHEHUS

V3

COSX = —
2

/A
[IpaBunbHBINA OTBET: T c - 21mn, nez
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